CALCULUS II - 3450:222
TEST #1 SPRING 03

NAME

Show all your work.

1. (6 pts) If g is the inverse function of f(x) = x” + 3x* + 2x - 1, find g'(~1)
£ (0,-V) Pl Byt past L2
9" (-1, 0) £'(0)= A

(o). —Y/—m— - 1 - L
A T

. . 1 :
2. Given the one-to—one function f(x) = ln( ZX+ 3) answer the following questions:

a. (6 pts) Find f~'(x)
y= In (= X+3)
X< Jn(a Y +3)

C. (2 pts) What is the range of f? . |
range £= domah ¥
r‘anje, f= ’P\

Xz .
3. (4 pts) Use the properties of logarithms to simplify ln( 2L x).

ln(‘éx‘éﬁz) = kXt I (Ginx) = In¢)
=lE L a Gikod) = 1 G2)

100 Points

6 Points

11 Points

4 Points




4. Find the derivatives of the following functions: (You only need to simplify your answer in part e.)

a. (4pts) f(x)=1.6"+x"® b. (3 pts) f(x).= "X
B i e 20x) = 36 ()
c. (6pts) f(x) =sin"(aflnx —x°) d. (10 pts) y = x5i"%
£ = (@B Uox-T ny= Gw)(Inx)
N 1= (Inx-x*) (—L)ﬂ :)m,x) %) + () (cosx)
(% 2l y's 3[ ¥ 4 (Inx) Cosx)]

Y 34 +(/mx)é05"7]

h x
e. (8 pts) f(x) = co:h =

£'(x) = O*‘Cﬂka)( L) = (] e shi i sk
(/+ coshx)”
= = SIhhX —coshxsihhX - SIhhX+CoshXSinhX

(/Fcoshx) T

(Be sure to simplify your answer.)

= _0751th
()4 coshxi)is

31 Points




L

Evaluate the following integrals:

smx
3 (SPtS)f +cosx

Jet w~ Y J—cosx
dus-spy 0

fl

*j Yoo

= laiin e

= = ln|Ytcosx] +c
“=la(4+cssx) ZiC

tom f (21,

)BT f g e

/6{—_ U= )(ZIL‘-/
A= 2y dx

f Z(L%“- - fﬁn'/(éxj i

In(x*ty) + + ﬁ""_(‘f) 7L,

26 Points



6. Evaluate the following limits:

3/(2-x)

a. (2pts) lim e

x=—=2

= 0O
c. (7 pts) lim( 21-x
x—0 X
8, (5x4
IO TN S X
n lim (}f«.z(.)
X30 —
— etk
g

d. (10 pts) lim (1 - 2x)

2
b. 3 pts) lim In(10 +e™)

= ]r.z ( 1o+ 0)
= Jn(is)

1/x

x—0

|

=

e

Y~

~ 1
N

>
‘N

22 Points




